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QUESTION 1

Which is the OSPFv3 equivalent to the OSPFv2 Type 7 LSA? 

A. Intra-Area Prefix LSA 

B. Router LSA 

C. AS External LSA 

D. NSSA LSA 

Correct Answer: D 

 

QUESTION 2

Which of the following about VPRNs is TRUE? 

A. Customers must use the same routing protocol as the service provider. 

B. Customers belonging to the same VPRN service must use the same subnet. 

C. Service providers only need to perform configurations on the PEs to add additional VPRNs. 

D. For each VPRN, only one customer can be connected at each PE. 

Correct Answer: C 

 

QUESTION 3

Click the exhibit button. 
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Given the diagram below, what path will traffic follow from router R6 to router R3, and from router R3 to router R6, if IS-
IS is the routing protocol? The numbers beside the links are the metrics for that link. 

A. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R2-R5-R6). 

B. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R4-R2-R5R6). 

C. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3- R4-R7-R5R6). 

D. Router R6 to router R3 will follow (R6-R5-R7-R4-R3). Router R3 to router R6 will follow (R3-R4-R7-R5R6). 

Correct Answer: C 

 

QUESTION 4

Which of the following describes constraint-based routing? 

A. A mechanism that implements opaque LSAs. 

B. A mechanism that computes routes based on specified requirements. 

C. A mechanism that ensures the IGP best route is used. 

D. A mechanism that enables LDP signaling to use a route other than the IGP best route. 

Correct Answer: B 
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QUESTION 5

Which of the following SAPs will forward all tagged and untagged frames on the port? 

A. sap 1/1/1 

B. sap 1/1/1:*.0 

C. sap 1/1/1:0.* 

D. sap 1/1/1:0 

Correct Answer: A 
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